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4.71 x 40% = 2.78 X 90% =
2.81 x20% = 8.6 x30% =

3.25 x 60% = 2.8 x 80% =

7.74 x70% = 5.01 x 10% =
5.61 x40% = 0.15 x 60% =
0.65 x 80% = 4.42 x 90% =
4.13 x 50% = 6.34 x 80% =
6.92 x 30% = 1.11 x20% =
9.79 x 80% = 4.62 x 80% =
5.56 x 80% = 0.23 x 20% =
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4.71 x40% = 1.884

2.81 x20% = 0.562

3.25 x 60% = 1.95

7.74 x70% = 5.418

5.61 x40% = 2.244

0.65 x 80% = 0.52

4.13 x 50% = 2.065

6.92 x 30% = 2.076

9.79 x 80% = 7.832

5.56 x 80% = 4.448
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2.78 x 90% = 2.502

8.6 X 30% = 2.58

2.8 x80% = 2.24

5.01 x 10% = 0.501

0.15 x 60% = 0.09

4.42 x 90% = 3.978

6.34 x 80% = 5.072

1.11 x 20% = 0.222

4.62 x 80% = 3.696

0.23 x 20% = 0.046
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